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e Used in the first clause

* Restates a known reason,

promise and scenario

* Logical conclusion
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e A certain action

e Under certain circumstance

 Not future event
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* Not follow any predictable
pattern

* Future event

« FIRUEE

w R A




« [EIE[E
DA
SCIE

IFEMH R LA

2

ﬁ%/\T_J’EE’JA

MEN A [E E

REYAFT

- ks [ %

3]

'L | ﬁi%J

na

= H

- 4z

/U’ﬁ/xﬁ AR KT ; T
(eSS M N St



WA  EEEY - miRANA D =R —
Fe 7o T/ SEER B, AT IR

-semprEass N - ek B s
BN N N




/—'-L»/—LL» PRV

T VS T -+

s IRJEIRIEESMT A




IR E R

1371 2

o R TR F

305 ?









Speaking Exercise

 JREERK TET TN ARERERD
e TIKERIAL 157




Speaking Exercise

s REFKMEHE , ELALULBEEER
F L 2




Speaking Exercise




Speaking Exercise

« (REBEEAL LR FBERE
i F R EF T4 2




eaking Exercise

e

- IREEEBAFES , B TR
KX AR 2

Y

43




